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Find	
  the	
  dot	
  product	
  of	
  
u	
  =	
  <	
  1	
  ,	
  1	
  >	
  	
  &	
  	
  v	
  	
  =	
  	
  <	
  –1	
  ,	
  1	
  >	
  	
  
Indicate	
  what	
  this	
  means.	
  



Find	
  the	
  dot	
  product	
  of	
  u	
  &	
  v	
  

•  MulEply	
  the	
  verEcal	
  components	
  of	
  u	
  &	
  v	
  
ua	
  •	
  va	
  =	
  1	
  •	
  -­‐1	
  =	
  -­‐1	
  

•  MulEply	
  the	
  horizontal	
  components	
  of	
  u	
  &	
  v	
  
ub	
  •	
  vb	
  =	
  1	
  •	
  1	
  =	
  1	
  

•  The	
  dot	
  product	
  is	
  a	
  scalar.	
  Sum	
  verEcal	
  &	
  
horizonatl	
  component	
  products	
  

u	
  dot	
  v	
  =	
  -­‐1	
  +	
  1	
  =	
  0	
  



The	
  Dot	
  Product	
  =	
  0	
  

	
  
	
  
	
  

Since	
  the	
  dot	
  product	
  is	
  zero,	
  this	
  means	
  that	
  
the	
  vectors	
  are	
  orthogonal	
  to	
  one	
  another.	
  

	
  
Orthogonal	
  means	
  at	
  right	
  angles.	
  

	
  
	
  


